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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
@S fraeare fe i Sed il :

(@) In a capitalist economy, the level of
employment depends on

a3 Rt wL@ifes fans TR B9 F1e7 39
(i) level of aggre;gate demand
(S PR TR SIS

(i) level of aggregate supply
SARF QISR TR S
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(b)

(c)

22A/40

(2)

(iii) level of effective demand

g BIfEwR AR @sige

(iv) None of the above
8%[{] OIS 7Y
( Choose the correct option )

(o= RFsco MR Sfersar )

Aggregate demand can be expressed as
TR oif¥A 2 FRA AR

() D=D, +D,

(i) D, >D,

(iii) D, <D,

(iv) D=D, -D,
where (38) D = Demand (01fZ%)
D, =Consumer demand (ST 5if241) and
(%) D, =Investment demand

(Rt oif2m)

( Choose the correct option )

(o= fRemco MR e )

When money wage rate is unchanged,
the slope of aggregate supply function is

o g e 2 SARTSRE, ol Fafie
QI T SRR 23
(i) linear
@R
( Continued )

(d)

22A/40

(3)

(i) non-linear
-(3RT
(iti) curved
&
(iv) Any shape
R A
( Choose the correct option )

(o7 [Fsch! MR Sfersdr )

According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

ReforeEd FCo el % YRR ARTE™ 2
TG ROl 2

(i) inverse

RefAe
(i) linear
R
(iii) non-linear
-
(iv) both inverse and non-linear
R wF o-CaRF AR
( Choose the correct option )
(= Rl TR Sfered )
( Turn Over )



(e)

(9)

()

M

0
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(4)

Phillips curve determines

ez 4z fida =

(i) employment rate

[GISIREEE

(i) unemployment rate
e 2
(iii) inflation rate
Tardifes 29
(iv) All of the above
SR HGIRcEE
( Choose the correct option )

(= Resicor Az Sferear )
What is modified Phillips curve?
e fefeio e R 9

What is assignment problem according
to Mundell?

e Tee wfigeydf R wom 2

What is Dornbusch’s overshooting
model?

S SR ket e 2

Define international financial market.

EeS RER IeRa wige i |

What is open economy?

& 1S & 2

( Continued )

2. Answer the following :

(&)

(@)

(b)

(c)

(d)

(e)

3. Answer any four of the following :

Differentiate between spot and forward
exchange rate.

=off W FIAS R 299 o AL [qT
Al |

Write two constituents of international
financial market.

HEEes F8R ISR o1 SAmTe = &1

What are the I-S components of
Mundell-Fleming model?

Toow-arfiy S Tem-REEeR S
o2

Give two merits of Phillips curve as a
tool of economic theory.

StoT wgq 1z Rowd Rfere® @< 11 8
fet=m

Define impossible trinity of Mundell-
Fleming model.

Teue-GFiR N3 wpfee @f’q sikes foa o

weid R viReR Tee for ¢

(a)

22A/40

What are the factors which cause shifts
in the short-run Phillips curve?

@M [Ee IRee Zmere e Q4R
S{fTETq FRY QT T2

( Turn Over )
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(b)

(c)

(d)

(e)

22A/40

(6)

Explain the concepts of rational
expectation in theory and practice.

ofes WF TR craqe @ Zomm
YIETCH! AT 41 |

What is adaptive expectation? Mention
three limitations of
expectation.

Sfe@fe g &2 WR R Swraer
TLEY 91

adaptive

How is the exchange rate determined in
a free market? Explain briefly.

T5 7o AR 29 v iy 1 2, vz
T 1

What are the relative importa.ﬁce of
aggregate demand and aggregate
supply?

e oM W s Qe qrem
Ao gy 69

How can the aggregate supply function
be derived?

ST Qo o @ees Fefae 341 =0 9

( Continued )

4. Answer any four of the following :

(7)

weq Ricerea vif¥orR eq faa -

(@)

(b)

(c)

(@)

22A/40

Explain the purchasing power parity
theory. Discuss its limitations.

Explain Mundell-Fleming model. .in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

ol Bee Jeied oo 7 A oSN
Rty 2o ud-@lig (qEs S1F ToR-
wie X NS = 91 |

How does the Phillips curve explain thde
trade off between unempl?ymf?nt -an
inflation? Discuss its policy implication.

ﬁﬁﬁmmﬁmwm

T 7o AT ¢ 2 TR A0S ROAPHR
AT 0 |

What do you mean by effective demanc.l?
What are its determinants? Explain
briefly.

e vt e B o2 TR SR
3 2 L T A0

( Turn Over )
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.
AEEE oiftm wF AT @eree e
St ST @emed e 9 =, 3¢
il

(f) Explain the Dornbusch’s overshooting
theory.

DT S S[AgIR ©gCol I T |

(g) Write a note on monetary approach to
balance of payments (BOP).

(GG STel (BOP)J Yuise Yi3sialy 8o
o1 (o1 forsm |

() Explain the asset market approach to
determine exchange rate.

R 29 P sRatar smem e s
T

* ok &
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